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The study of different kinds of organisms, their diversities and relationship among them
1s studied 1n:
QI TPL BladHen, 7 adBgiin JFOEe3LR 00N DotoTrL (PO Tt eligoNNSN WFrd.
Options :
Biodiversity

NI ETATINY

Plant taxonomy

)& 50800
2. % “
Systematics
3.¢ -
o -Taxonomy
I\ -CIPTN\TCRR
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Question Number : 2 Question Id : 7196501922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following stiuctures of blue green algae are sites for dinitrogen fixation?

Q 9O SHD Y FEUPO QTR G-IGBD PRI Poren?

Options :
Akinete
SN
™
1. %
Heterocysts
E:“ﬁﬁﬁ‘?og\a)w



Hormogonia

FOUSPYSENIOVeLIY
3. %

Endospores

@oehRcdedeen
4.8

Question Number : 3 Question Id : 7196501923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Carolius Von Linnaeus popularized the binomial system of nomenclature
and proposed sexual system of classification.

Reason (R) : Sexual reproduction in plants was discovered by Camararius.

D3B30 (A) 1 30700 P Od) IR & §PsR TR 2uwr0en W SOOI Sl $050e:
QTTR), PSTF LoD,
08w (R) 1 830070000 o) ol SohHE D03 1S ey 6.

The correct option among the following is
& S0l RYFUS LOGRIL
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) S0Lowdd, (R) Doowsi 000w (A) 50 (R) 008 oddes

1. #
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) J0owse, (R) Sowowdd 520 (A) R0 (R) 105 2806 5260
2.
(A) 1s true but (R) 1s false
(A) 2020wk R (R) 2000056 5260
3. %
(A) 1s false but (R) is true
(A) 20036 20 =R (R) Swawdd
4, %

Question Number : 4 Question Id : 7196501924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Agar-agar is extracted from Gelidium and Gracillaria, they belong to which family?

s 5

rPO- PO 8.5 VPG OGN0 OGN PRSOGIU Dok 2)owed. B¢ FaSerey o

H0d002P 08 Debida?

Options :
Chlorophyceae
TR

T
Rhodophyceae
SRR

2.V
Phaeophyceae
SO0

3. % -
Cyanophyceae
NOIPSRR

4% -

Question Number : 5 Question Id : 7196501925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct statements,

A) Pseudoelaters. archegonia on archegoniophore are seen in Marchantia.
B) Wolffia and Salvinia are the smallest plants belonging to pteridophytes.
) Embryophytic. archegoniate. tracheophytes with underground rhizome is

seen in Divopteris.

D) Algae are primary producers of energy rich compounds for the aquatic
animals.
E) The reduced male gametophyte develops within the microspore.

QO 5T gLD (1Qoudein.

A) 9y BO&LY, 9 Werdoh SyoBed &9 Lardolo SrTPy Rz Jolld Wridlo).
B)  &O)08r ok POII0HR @bSD OGP DodS SBDS) S .

C) a}of._-;“cb& wdgéé w6 (TR tiv TP Smerosn $Q, air(iGy STakwy $OID

CR

OIrFRORT Srda).
D) S 2oL WFUIT Kol JESea0 OIrNTPLH) FOWE GBSl Fduren.
E) E00E0E Wl sp0oR VeOIrt) 2l DitEL W) VeSS adofi.

Options :
A.B.D only
- A, B, D gl
A, B, C only
. A.B. C el
C.D. E only
- C,.D.E Srgd
B. C, E only
L B. C.E &l

Question Number : 6 Question Id : 7196501926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



Fill up the blanks with suitable words respectively.

i protect the apex of the root. above this 11 1s present with cells of thin walls

and i1 .Thecells iv  to this region are useful for rapid elongation. These

cells gradually differentiateand v .

A dense cytoplasm B. root cap £ meristematic region

B mature E. proximal

PRPOD D0 Darwes” Pdounsw.

i 0§30 G800, BASRS i &S Eeren DR Swdween, il §0

Hotrow. BAE  Iv o FEren Frdad) JENErO8 TR Ddoorow. 90 §ur 28360

wob Vv
A @5&@ 2835 Z.}CS"C;JO B. s e C FPALIN R TR é"oéo
D. “w§5mo§)@"°ow E. POTN LN
Options :
1 11 111 v v
B C D A E
1. ®
1 11 111 v A
B C A E D
2. ¢
1 11 111 v v
5 A B D E
3. %
1 1 111 v '
B C A D E
4. %

Question Number : 7 Question Id : 7196501927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Match the following lists:
ListT

A)  Sessile, unisexual and neuter flowers arranged 1)
in acropetal succession

B)  All the flowers are brought to the same height  II)
due to varied length of pedicle

C) Achlymadeous stalked, unisexual flowers III)
arranged 1n a cup like structure

D) A three flower cymose inflorescence V)

e S0l DEEOD wBRONats.

S8ET

A)  SyoB8are, JEoTP, Sotdy PN OFEHFS )
éﬁ)o@e ED0obd

B) Y@é;&ﬁgo@“w 5355(50 ﬁa@g}“ @olibo S II)
QLYY &S I Golbraw

C) Oe3), Soed :%D“&E’aofsa K)&:J@D’gj‘“‘@ &Se\,o@oﬁw, I1I)
DEDSDIF YR e 8ed)etTron

D)  Sr DY Bo 838 RI0T5R0 IV)

The correct match is

DO 2985

Options :

A B L2 D

III I IT 1A

1. %

A B C D

III IV I II

ListIT

Euphorbiaceae

Jasmine

Cocos

Cauliflower



4.%

Question Number : 8 Question Id : 7196501928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

A) In fig tree, after fertilization whole inflorescence become a fruit.
B) One seeded bits of schizocarpic fruit 1s called nut.

) In watermelon, terminal buds are modified as stem tendril.

D) Taeniophyvllum has chlorophyllous roots and it 1s an epiphyte.

OGRS TPgaT g (080w,

A) b 3wk S HOBESERSBEe DRYIT G0 Woth 28 DeeP BB
B) 208 DBJo Fo 305 Do BRrPR) DoBtiv DUo olrdl.

C) ) 30K S 58 300 Toiesnn HOSET Eraretho Dol

D)  &H0Trdgrad ot DG 0SB0 SO I ahotromw. 8l gl & Ehaio.

Options :
A, C only
L A C ﬁ?@&.‘b
A. D only
A D @“@5}
2.
B, C only
- B.C éj"@io
B. D only
B.D oﬁj“@&i)



Question Number : 9 Question Id : 7196501929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the endosperm cell of an angiosperm has 24 chromosomes, the root cell(s) and pollen

grain(s) have how many chromosomes?

5y eles S8 S’ @eSdwrE WSS’ 24 §AFPanend) F @0 SO Seren S0k HoEl
SePS’ EardHrw Loy Doth?

Options :

16 and 8

16 0003w 8

1. %

16 and 16

16 60w 16
2. %

8 and 16

8 6ol 16
3

24 and 8

24 6o 8
4. %

Question Number : 10 Question Id : 7196501930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the typical angiosperm embryo sac from the following.

&2 S0l S L& by Barw Dol Fa BoQouio.
Options :
7 nucleate. 8 celled

7 éog@w, 8 ¥grew

8 nucleate. 7 celled

8 S‘ogas“w. 7 ¥gen

8 nucleate. 8 celled

8 Sogrseen, 8 Strew
3. %



8 nucleate, 6 celled

L 8 Sogrseen, 6 Seren

Question Number : 11 Question Id : 7196501931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following, based on the number in ascending order.

A) The number of haploid cells present in a flower with 121 megaspore mother
cells development on maturity.

B) The number of pollen grains released in a flower showing anemophily.

) The anther lobes in Hibiscus.

D) The number of integuments in ovule of polypetalae.

E) The number of PEN chromosome number in maize flower with 48 meiotic

divisions during megasporogenesis.

$0& AR, TP VotwgdUorP BTTE o’ @lySw.
A) 121 DrORGESTSYEEROY S0 RS0 Sotdd HERDS ol DEVSE Serw Dotdg.
B)  or0dn Hoet Do) S0 W) DRes 833 Hoed St Dowg.
C) el Sothy HOHISS SIvyen.
D) POREFO Woliadd ol a))ots) Wolkddare Dowg.
E) 48 E0hE0e 2alzden W) Sy e sy rodddedes 22850 Soth ooty PEN
§ 3P Fane Jotdg.

Options :

C. DB AE

1. ®

C.DAEB

E. €.B.4A, D

3. &

A,C,D,E,B

Question Number : 12 Question Id : 7196501932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Identify the plants with the following characters respectively.

I Herb, pulvinate leaf base, zygomorphic, monodelphous, protandrous.
1) Herb, hairy stem, exstipulate, axillary inflorescence, persistent calyx, protogynous.

III)  Radical leaves, hypogynous, basifixed anthers. axile placentation, protandrous.
polyembryony.

A) Solanum B) Allinm O) Datura D) Arachis

E) Crotalaria  F) Asparagus

G wdrw eardorr S O SCRS K00,

) ey, H0yo Sol3 HGHESN, PLE FRI0PVBSD, Ee0lE TS, DoBsosm.

1) (POyan, SIS wolialn, WO DErw, (P DRYITRe, WOFOE OL8
DTPEP, Q9 2 POIFSNS.

) o Doexed DTFW, @olSTRRTo, HOJIrad SVoPSP, Dot Woliargoes,
oz DRSFGNS, WV,

A) FePtad B) &dalo C) s D) &0

E) Sedbate  F) &0y O 50

Options :
II I1I
E A F
1. %
I II 111
D € F
2. %
II 111
P C F
| II I1I
Lo D A B

Question Number : 13 Question Id : 7196501933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



‘Colchicine’, a mutagen is extracted from which plant?

FOYVD O EH1BSSS 225550 0 Sy Dol LRD?
Options :

Bulb bearing Liliaceae plant

LDIBND DS DD S0y,
1. #
Rhizome bearing Liliaceae plant
§7500y e DS OO Iy,
2. ¥ K
Corm bearing Liliaceae plant
o0 SO QDGR %)
3. %
Cladophyll bearing Liliaceae plant
FEIS D FOS QO Sy,
L% O =

Question Number : 14 Question Id : 7196501934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following synthesizes the cell wall?

&1 808 PAS B FESTQ), SOLFEWOND?

Options :
Vacuoles
o885

1. %
Golgi apparatus

O HO¥oren

Cell membrane

Zeadd ogﬁéé:o

3. %



Glyoxysomes

OIS yTFaen
ot

4. %

Question Number : 15 Question Id : 7196501935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What i1s ‘Inulin’?

BDIOS ©ol3 DD0ES?
Options :
Polymer of fructose

D87 gy, ;IS
1.V B
Polymer of glucose
BrSR Aoy OO
2. &
Heteropolysaccharide chain
. SPOTFOPROGE & yoawedn
3.
Homopolymer of cellulose
RegeE Ay I arardd
4, %

Question Number : 16 Question Id : 7196501936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of the following sub-phases of prophase 1.

L. Zygotene 1I. Diplotene I11. Leptotene

IV.  Pachytene V. Diakinesis

20008 I &' 206 @0 OGN el Bododset.

L BEES . aras O S¥eSs
V. PSR V. GOSPERAIR
Options :

LILILIV.V

1. %



LILIIL V,IV

2.

o, MLLIV.ILV
L, LIV, V, 11

4. %

Question Number : 17 Question Id : 7196501937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the cells/parts based on the characters given below respectively.
— Highly thickened dead cells with narrow lumen
— Lysigenous cavities with water
— Radially placed parenchymatous cells between vascular bundles
— Polyarch xylem bundles
A: Monocot stem B: Leaves of tea

C: Medullary rays D: Monocot root

So& B0 LEEFL wrlor Siren/ errrocd SEINTP KoGouhan.
— @D Dol Hols, D) D @BEBE SO V0SS Seren

— QR AUV LB T W

— PgrlorP 9300 s0ytEru SEren IPPF RosErw W3S
— 20870 QW TS ozl

A 589l SPosiasn B: &ar$ Hzrew

C: $385Bmen D: o¥cvedes J60

Options :

A D.C.H

1. %
B.A,C,D

2. € D. B

B.D.C, A

4. %

Question Number : 18 Question Id : 7196501938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Match the following lists:

ListI List IT List ITI

A) Deposition of aromatic 1)  Couple of I) Sieve element
substances in secondary xylem layers

B) Dumb bell shaped cells 1) Resistanceto II)  Heart wood

insects

C) Peripheral cytoplasm with 1) Highly IIT) Produces cork and
large vacuole thickened secondary cortex

D) Narrow, thin walled 1v) Perforated IV)  Part of stomatal
rectangular cells end walls apparatus

& S0l 2PDTPOR BBLOWSN.

e | sredee 11 srede 111

A)  GI3BAD TRHT e 1)  &3Frdn D) O aruo
QWP ool

B) BWalops Jo Rt BV ) SOz H&TREE 1) wedordid)

C) HOLD Fealdlgo, 0008E 1i1)  od80p &5 SotdorP D) 238, &yBok
Hodrow S0y, 00 S YEED

D) 3R, Do Snldorw 1V) o3 SoGegen V) ?’.ag Stinpeloliopnd)
5O OGSETTS Sren So@oingo gy, &etio

The correct match is
SSTeRUNE
Options :
A B C D
1. 11 i, I L, i, IV

1. %

A B C D
1, I i, IV 1w, 11T 1, 11

2. %



A B C D
i LI I iv.IV

3. ®

A B C D
11, 11 i, IV 1w, 1 1, 10

4.9

Question Number : 19 Question Id : 7196501939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements.
A) During succession same species colonise an area whereas populations of other

species decline.

B) Both excessive water and dryness create a uniform situation to plants to survive.
C) The rotation of our planet around the sun and its axis cause distinct seasons.
D) Plants growing in water conditions possess well developed root system for good

absorption of water.

STSINEUIE TSI T VTNV I
A) 05w LI Y §Q) el 2l DRFS DODEID. §Q ardo BIPETFW
£ 6803305,

B) S8y 0 wWBELES, @hE A Swr 2ererd HOLLLLY 28 C5I0 DOV D yFow.

C) PG W eiP0  gdtio, WP :‘*5535@* S0%¢00 IO A0RDS  2a0BHL
QS eraw.

D) ¢ D0 EHET ) S0, D808 38 Dobs I Sg80 5O @ols AR
Frow.

Options :

A. B only
A, B gl

1. %

B, C only
B, C Srgo

2. %



C.D only

- C, D g
A, C only
A. C g
4.

Question Number : 20 Question Id : 7196501940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

A) Developing a carbon tax system will help i prevention of global warming.
B) Biome 1s the major ecological community consisting of all ecosystems.
) Primary succession in water starts with planktons free floating angiosperms,

rooted hydrophyvtes sedges. grasses and finally trees as forest.

D) Eugen Warming classified plant communities.

POTRS TPgar g (8owedn.

A) EOHS D) DO, Povdlio PP (1800 00 A0 AT Qovdd)y.

B) 2000 &SP $uP @306 Qotold DSnirClsned) el Sgdoudd” Sk
Hotaod.

C) A& rdant gt Jndts 57r-dlR SO wlyS Ressndy oo, oy §e
S0y v, (G eSOy, WSO &YFPLlo TP a)otrow.

D) Q& 20 of) SN0 LU S0EGoWRD.

Options :
A.B. C only

. A, B, C g
A.C.D only

- A,C.D g

B. C. D only
B 1) 055‘@5::

3 #



A, B. D only
A, B.D gl

4. %

Question Number : 21 Question Id : 7196501941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Pickles are preserved for longer period by the addition of salt. Which process is involved

here?

DTS &) Senier SUS 0D DS FLo QY Hobrow. S, E ) SO0 FSotnod?

Options :
Osmosis
. Qa“eb"coéeam
1.
Guttation
20080 FPSadd
2. % L
Plasmolysis
- Sagdely ORI
3.¢
Imbibition
L PN

Question Number : 22 Question Id : 7196501942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which mineral elements are present as structural components of electron carriers?

0
PUFIS PIFOS” 9065, § @28 SIPUFLTF &) & w0?

Options :
Cu, Mn
~ Fe, Cu
2.
Cu. T
3. ®
Fe, Mn



Question Number : 23 Question Id : 7196501943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Match the following lists:

List I
A) Low temperature
B)  Rate of process
C)  Arginosuccinic
acid
D)  Prosthetic group

1)

ii)

iii)

1v)

& S0l 8PRTPON BBLOWls:

erede |
A) S5 S NS
B)  $5ch Gew
C) 00808 wado
D) 2338 doarofe

The correct match 1s

DOCRS 229
Options :
A B &
a i, I 1, IV v, I
A B ¢
L I i, IV L IO

ii)

iii)

V)

ListII
Refers to product I

formed per unit time

Lyase 1I)
Coenzyme 11I)
Pressure the enzyme 1IV)

e I
Hares PooeS D83E 1)
=G oTrL DS
WO II)
¥ o I1I)
QoSN HisSo
FOnrown

IV)

11, 11

A |

List IT1

Fumaric acid

Temporarily nactive
state

Cofactors

Also called velocity

s I1
55008 ko

&) Ofor P
Soldare fgei’a
PP
WodSte 0l Sree
ot



A B L D
Il u, I w, IV 1, 11
3. %

A B C D
v, I 1,IV i1, | i, 1T

Question Number : 24 Question Id : 7196501944 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of e— transport of photosynthesis.

88ea283g QoCIFHEON Sothd e— Sargre® DO E0ainsy Hoouiadn.
Options :

Py —pheo —Q, =Qy =P, ~FeS —cytf — P. Py

1LV
Pﬁao — pheo — QA il QB — ¢yt bﬁ — FeS - PQ —cytf — Pc. = P?m}
) %
Pyp — pheo —Qp ~ Q,— PQ —igyth,— et — /Py Py
3. %
P, — pheo — Q, — Q,— eyth,— cytf — PQ == B
4R

Question Number : 25 Question Id : 7196501945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Arrange the substrate of the following enzymes based on their carbon number in
ascending order:

A) Sedoheptulose—1. 7, bisphosphatase

B) Ribose—5—phosphate 1somerase

C) Phosphoglycerokinase

D) PEP carboxylase

E) Malate dehydrogenase

G038 BN odoBsinw @GP Dwrdo 6y Doty W UerP IR WTTE Eod” @il k.

W

&

A)  AETREE -1 7. D0 EE
B)  0e¥0 —5—rd)& avrdE

C)  >¥\O0TE3E

D)  PEP 508 \3e

E) &ro® &rgads

e

fr

Options :

A€ B D E

1. %

DERBCA

BB 04

3. ®

B.C D AT

Question Number : 26 Question Id : 7196501946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In the given reactions, identify the substrates of respiration respectively.

CeH,06+6 0, — 6 CO,+6 H,O+energy

2 (C4H04)+145 0, — 102 CO, +98 H,O +energy

$o& WO F°gREONS" HACTFN0D2G R VWL SEIVP (3900w,
C.H,0,+60, = 6CO,+6H,0+ %3
2 (C,HogO4)+145 0, —> 102 CO, +98 H,0+ %3
Options :
Sucrose. Albumin

S, WLON®

1. %

Glucose, Stearic acid
. GrSTes, w05 essdvo

2. o & [ ]
Glucose, Albumin
Brses, ewoyioe

3. %
Glucose, Tripalmitin
B85S, Branddn

Question Number : 27 Question Id : 7196501947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Respiration is a good example for an amphibolic pathway.
Reason (R) : In amphibolic pathway, both anabolism and catabolism dependent
reactions are catalyzed by the same enzymes, thus glucose is oxidized

and can be synthesized from amino acids.

QBS0 (A) 1 F7OFOW WNIL &afoiuD Jartr HUENIH Dow eweerde.

wOsaw (R) @ &afodd Sarer WSS Q05 gad ol SO &wyd) Saiw Biakwn, Sole
as O doBdinw B wErdllte Sos P w8 ¥dne Betduod
00050 30" IR0 ol DoFigaein sty

The correct option among the following 1s

& S0l DRYFUS DOGNIG

Options :

(A) 1s true, (R) is true and (R) 1s the correct explanation of (A)

(A) SOoS&, (R) Soondd S0005w (A) £ (R) 008 2&0es

1.¢
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
) (A) Q0wowd&, (R) Doonsdd 2 (A) %0 (R) 008 2806 576
2.
(A) 1s true but (R) 1s false
(A) D0oNI& R (R) 00088 5260
3. %
(A) 1s false but (R) is true
. (A) P0oWEE W R (R) SoawSc
4.

Question Number : 28 Question Id : 7196501948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify “bolting” promoting phytohormone in cabbage plants.

SPgede8 A0ty O “eTO0h” HITHD BBBR BYLFE)S LT S0G.

e

Options :



Gibberellin

o 2820)00%
1. ¥ «
Auxin
@8 \o
2. ® b
Cytokinin
RIS
3. %
Ethylene
oL 0 E
o GOV

Question Number : 29 Question Id : 7196501949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following lists:

List]

A)  Bdellovibrio bacteriovorus

B) Discovery of DNA as genetic
material

C)  Salmonella tvphimurium

D) Pleomorphic bacteria

& S0l )T 230G u0S0.

e |

A)  EYDRALr aPOMPaSED

B) DNA 2&0g0megrorr ST

C) FSdy° Foalrs6alad

D) 200008 soe§008rw

The correct match is:

2O 238
Options :
A
I
1. #
A
II
2. %
A
1T
3.
J.%
IT

4.%

I

IV

I

IT

III

1)

I1I)

IV)

1I)
1I1)
IV)

ListII

Griffith experiment

Changes shape depending on
nutrients

Parasite on bacteria

Transfer of genetic material

through phage

eeele 11
ARS DO G
FLO 208 Borew ) STd
2P50007R TP B
e WPO° 2300y VwTeo 208
woldl.



Question Number : 30 Question Id : 7196501950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the incorrect statements.
A. The TMV is with molecular weight of 49x10° Daltons and 2130 protein subunits.
B. The number of capsomers are characteristics for each type of virus.

C. Conrat confirmed that genetic material of virus 1s RNA.

=

The “burst size’ 1s referred to the number of newly synthesized phage particles

released by single host cell.

RO a7rgar g (1000w,
A. TMV, 49x10° e emoardsne’, 2130 8 &b Harmmen 8O Hodwod.
B. 32 J00 % @wr ¥ yuag Somg (000w Lt Gotwol.
C. $30°¢, J0R adyg Dwedsin RNA @ 2020t Wab.
D. 2% &0 Do SPSJSorP Dogts Wold ALY aFeE St Doy WHS DO’
@olr.
Options :
A.B only
. ABargd
C, D only
C, D srgd
2. ®
B, C only
. B.Cargd
A, C only
ALC arsd
4.9

Question Number : 31 Question Id : 7196501951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Identify the correct expression of the F» generation of monohybrid ratio.

0808 DB Fr G 008y, 0O S48 Hagoiosw.

Options :
(£T+irW><[1T+ir]
W2 2 /)0\2 2
1. ¢
[1T+lr x[i]#irJ
4 2 2 4
2. %
(lr-i-ifwx(iT—FETJ
4 4 /)12 2
3. %
[1T+11J>{1T+ir]
4 2 4 2
4, %

Question Number : 32 Question Id : 7196501952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Drosophila, the genes for body color and eye color are present on:

GO F005050, 3& S0SNUED Dol 22gedw QAR aotTow:

Options :

Autosomes

35 a0

X-chromosomes

X-§ 3@ Fanen

2. ¢
Y-chromosomes
Y-§ar e

3. %

Sat-chromosomes

?5-3’3}”%‘3539_13



Question Number : 33 Question Id : 7196501953 Question Type : MCQ Option Shuffling : Yes Display Question Number

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Match the following lists :

List-I

-

o nw

Diameter of DNA

Length of the one coil of DNA

H-bonds between G and C

S Sold WIS RBDGDG!

o~

c nw

LBV

The correct match is

KOS &S

Options :
.\’.%
= I
A
v
2. %
A
3. & v
Lq
o IO
4.

DNA sogi0ai

III

I

DBET

\_.r

II

Number of base pairs in one coil of DNA

DNAS"® 28 Secadn ciwdy Fed)

G o0csw C & s0édg H-2008meen

wE DNA JSeolanesd Hedird Tore

\j’

II

IL.
III.
Iv.
V.

II.

ITI.

Iv.

List-IT
20 A°
10
34 A°
2

3

OGS
20 A°
10
34A°

2

L¥¥]

: Yes Is Question

Question Number : 34 Question Id : 7196501954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Lac mRNA i1s synthesized in the presence of mnducer.

Reason (R)  : Inducer suppresses the activity of repressor protein.

D3)Basw (A) 1 org§ MRNA 208 D0ESnS” DodBowdentiod.
FOaS0 (R) @ 208 Smegran 6200 Fee cnd) §01reh) S8 Sholub.,

The correct option among the following is

&2 S0 RRYFUS LOGRIL

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) QOoWIL, (R) 200wt 00050 (A) %0 (R) 00 wddes

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

(A) S0, (R) J0@0uds 0 (A) S (R) 003 2508 5260

2.

(A) 1s true but (R) 1s false

(A) $6wowsd = (R) Soonss 5200
3. %

(A) is false but (R) is true

(A) 200NSE M 0 (R) SO00wSe
4, %

Question Number : 35 Question Id : 7196501955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct statements.

A) tRNA looks like an mverted ‘L.

B) Single DNA dependent RNA polymerase catalyses transcription of types of
RNA in eukaryotes.

) The structural gene in a transcription unit is polycistronic in prokaryotes.

D) Transcriptase catalyses the polymerization of DNA in 5'—=3' direction where

3'=5' strand acts as template.

SICTOR NIV E LS INV QVISTINVIN S o

A) tRNA So8othenm oot ‘L’ 5o Sdeatouob.

B)  Qa3:%% 88)’R RNA 5o e9dmed) as DNA wardd RNA rdsides
&2 33080 Winoh.

C) So@E Wrds @)y S $eiirtiod’ AT TRy S salged) aFOVTIRE
$otwod.

D) QS:J $225 DNA Oy Q)ozs¥derQ) 5'—=3' S 1080 Wiuob, ©¥) &

3'=5" ¥ rSDUTT SO0k,

Options :
A, B, C only
A, B, C e
1. ® -
B. C. D only
—=
- B, C,D &rgd
A. B, D only
. A, B, D &gl
A, C.D only
» A, C, D Srgd

Question Number : 36 Question Id : 7196501956 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Identify the reaction site of the Hind Il enzyme. DNA ligase and ribonuclease respectively.
A) RNA

B) DNA-sugar-phosphate back bone

C) Joining sticky ends of DNA

Hind IT do@20, DNA 68 200050 JeSSrgdchde oy e S0P (o,
A) RNA
B)  DNA-%8)0 ary& Sy Swf
) STORVRSERN SRSV
Options :

A,B,C

1. ®

C..B.A
B AC

B CA

Question Number : 37 Question Id : 7196501957 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the process of isolation of genetic material in a correct order.

A) Removal of RNA by ribonuclease and proteins by protease enzyme.
B) Breaking the cell by enzymes and release of DNA with other macromolecules.

C) DNA is separated by spooling.
D) Dissolution of all the biological membranes by detergent lysis.

E) DNA is precipitated after addition of chilled alcohol.

2GR DBES Do%w DECHS'A DAY WoTUD VOGN FietS” @id k.

A) RNA & 0o irgdols wrgoe, ¢ddah drédodes wrgoe ddodoiue.,

B) See ), JoFBS0e o 30° Whed DNA 5, 005w 008 20)srdenadod Stodaird.
) DNA & D080 0°30° De00iduel.

D) ©d), HSSBTOD &0l YT DD YS) o Dahe.

E) &P DO BHTCS B0 DNA 98 E 0P SoladFeiiodd.

Options :

A BCED



B.DAEC

2.V

B LR

A 0B DLE

4.%

Question Number : 38 Question Id : 7196501958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : DNA fingerprinting is the pattern of DNA fragments on the gel.
Reason (R)  : It is a technique used for the identification of individuals based on

differences in DNA fragment patterns.

Q3)B50 (A) : BS 235 DNA 5005 © 90053 DNA SJO50¢ @l
52060 (R)  : DNA sobzrw Sorare Glwl), S3ergdo &w@olP 02 2.8) 00 LSgStidorr
(00050 & FPoSBE PR &0CIFOP.

The correct option among the following is
&2 Sl DRYFOS DOTRIR
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) D0003&, (R) 00086 00alw (A) 30 (R) 008 286,

1. ®

(A) 1s frue, (R) is true but (R) 1s not the correct explanation of (A)

(A) 200WI&, (R) Doondd 53 (A) B (R) 008 206 0.

2. %

(A) 1s true but (R) 1s false

(A) $0woRI& =22 (R) 00058 0.

3. %

(A) 1s false but (R) 1s true

(A) Jocwis 5260 29 (R) 00000k,
4.9



Question Number : 39 Question Id : 7196501959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which technique is used to produce virus free plants from virus infected plants?

SED FBHD B8y Dok JEH GLrS B O o) PoIBE AP SN TIT° &S S
WORE0?
Options :
Anther culture

S IR RIRAN

1. %
Meristem culture
SIQNEVEIICRS AN OINAGY
2. B
Embryo culture
5005 858330
3. #® f
Ovule culture
0t o095
4, ® #

Question Number : 40 Question Id : 7196501960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Blood cholesterol lowering agents’ statins are produced by the following veast:

B0 §HIUD Siotd P, & ST Do GBS SH:

Options :
Aspergillus niger

&0y 0L T
Saccharomyces cerevisiae
TR D0 DOIDAD

2. % e

Monascus purpureus

@J“n‘ﬁ& D e 2 Sabw



Trichoderma polysporum

&I8 wosy 53‘769:3‘;) Ca

4. %
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Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
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Sub-Section Id : 71965041
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7196501961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In the hierarchy of classification. the lowest obligatory category in five Kingdom

classification is

2005 T35 SOEGHSR D) WotiLES Q) POow WDEDNE o
Options :
Order
NS

Species

2363

Phylum
5o

3, #®

Class

ertio
4. %

Question Number : 42 Question Id : 7196501962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Species 1s an evolutionary unit

Reason (R) . Having similarity in structural and functional characteristics

W8 YDe (A) 1 27D 2,8 DOEF YO0
F0te (R) @ domed) s, \%ojre‘.'%s e oS’ 5"65"‘6’..’)56‘.’9 $OA cotitio

The correct option among the following is
&8 S0l YO DOAIG

Options :

Both A and R are true. R is correct explanation for A

A 208030 R Qazo. A 8§ R 28 DdH0es

Both A and R are true. R is not correct explanation for A

A 0803w R Qavo. A 8 R 28 DdHGes 576

A 15 true. But R is false

A Dd20. 570 R Q2o 5°¢0

A 1s false. But R is true
A dzo 3. 520 R dzo

4.%

Question Number : 43 Question Id : 7196501963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following secretes chemicals acting opposite in function?

PO ?

& §08 LS D HED 28 SBTLrP DDV CPONS DTPTOD

(2s
+)L€"

Options :

Adipocytes
VEHPAY

1. %

Mast cells

AT TP
2.V =



Plasma cells

3’?3"& e

3. &

Phagocytes

BIEE Sere

Question Number : 44 Question Id : 7196501964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Study the following statements:
Statement I : Bundle of muscle fibres 1s called a fascicle.

Statement II : Ependymal cells of nervous tissue develop from mesoderm.

Sold oL @Cﬁg@{dﬁo WOt
DOFSST 1 EolhS Botiede s FRES ot
DOPSSI 1 TG 20D ek Sipen S5l ol SAGHPOW

The correct option among the following 1s
&s Sold DYFUS HOADIE
Options :
Both statements I and II are correct

LSS0 T, TTHOSS

Statement I 1s correct and statement IT 1s wrong

L ALATNE RVSIVAR IR IR IAND | ROV AR AV

Statement I 1s wrong and statement 11 1s correct

HOPES T H030 0. 50 PAFESS XTI

3. %

Both statements I and II are wrong

QBFRIW I, IT D050 %)

Question Number : 45 Question Id : 7196501965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following:

Nematode Commeon name
A)  Ancvilostona 1) Filaria worm
B)  Enterobius 1I) Hook worm
C) Irichuris III) Pm worm
D) Wuchereria IV)  Guinea worm

V)  Whip worm
So8 T 2HDGI0C:.

DASE FTOE T
A)  DogeS e D p&6osr 2y
B)  D0860a05 I &od Hdord
C)  geyod I 55 26,
D) gsdsave IV) A2 =8 60
V) 2525,

The correct match 1s

OGS 23¢d
Options :
A B C D
L% II JAY V I
A B € D
) II 1T A% I
A B C D
I Vv IIT I
3. ®
A B C D
o I IT [T v

Question Number : 46 Question Id : 7196501966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Study the following statements:

L Echinoderms having Aristotle’s lantern are commonly called sea urchins.
1L Larva of enterocoelomates with stomochord 1s tornaria.
111 Circulatory system 1s open type in molluscs having a foot modified into arms

around mouth.

IV.  Bivalves have radula in their buccal cavity.

S0l @0 WEHgaSo WOkt

i BSOS B0 FONS DBSEA D DSNE) O @olrd.

IL. ©0g @l 2TV $ON e $08 J0ird eladhw GotdSo €70 OOIP

L SE3 < BTuHeuP Erarotito Job Pto O B0ty S0 85 Hot S50
RSy G%o.

IV. O ey So5rGet CoCogt Gotuod.

Among the above, the correct statements are:

2 eSS 00 WL

Options :

I, I

1. #

LI

2.9

IL IV
3. %

L, TV

4. %

Question Number : 47 Question Id : 7196501967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following:

Genus Common name
A Exocoetus L Flying frog
B. Pteropus 1I. Flying lizard
£ Draco II.  Flying fish
D. Rhacophoris IV.  Flymg dog
V. Flymg fox
Soly aPEIR 2380 DSVt
eeed PEPOE 50
A DS L o010 50y
B. &oD0 1. Np'e 2
C. g% OL 00 X0
D. oS00 IV. o300 %08,
V. SO0 I8,

The correct match 1s

OGS 23¢5
Options :
A B 8 D
I II V 11T
1. &
A B C D
I Vv 11 I
2. %
A B C D
11T IV I I
3. #®
A B C D
o8 v III I II

Question Number : 48 Question Id : 7196501968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following regarding frog:

I) Corpora bigemina is present in the mid brain

1) Bidder’s canal is present in the kidney of female frog.
IIT)  Sinus venosus is present on the ventral side of heart.

IV)  Collumella auris is present in the middle ear

FNH Dotefodd Sold oL G500 WOk,
) 526 Y0P WBLT® 0853 0" Golol.

1) & 5Dy g HotietS” 2JE0 BoUg Gotwold.
)  K0eGE &GOS Surs LTG0 Gotol.

IV) S0y IS 58 Dotds Gotood.

The correct statement from the above are:

2 ©oTOS DSOS

Options :

Only T and TV

, LIVarg®

Only L II and IIT

I, IO, TIT &5
2. ®

Only IL. IIT and IV
IL, I, IV &S5°ghed

3 #

Only III and IV
IIL, TV Soe@ed

4.%

Question Number : 49 Question Id : 7196501969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Statement I : During binary fission in Paramoecium. the daughter individual formed
trom the posterior part of the parent is called proter.

Statement IT : Sporogony m Plasmodiun is a type of multiple fission.

B FSIST : Holvdavo BGOSR S GO ad DO ot Dok DN DY BAD FEE
e9oCIP0Y
DS PRSI+ ey Saloes” 2200 FYTHED ¥ G5 2R DD

The correct option among the following 1s
€8 800 RO DOGVIB
Options :

Both statements I and II are correct

OB PSen T 28k T HBHD

Both statements I and I are wrong

0 areSen I 0dain II DB 57

2. % ¥

Statement I 1s false and II is correct

NS I [ DB 57, DB PGS 1T DTG
3.9

Statement I 1s correct and II 1s false

OB S0 T HFH0. PO PSS I DFHE S

Question Number : 50 Question Id : 7196501970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following:

Type of flagellum
A) Stichonematic
B) Pantonematic
) Acronematic
D) Pantacronematic
S0l PEI0 BB DGNG:
Eede O8o
A) 25 ATHS
B)  arolS0esess
C) 5 asmess
D) Pl Vadaeeds

The correct match 1s

OGRS 23¢9

Options :

A

IT

III
A

I

4. %

v

II

v

IT

Example
I) Peranema
1) Chilomonas
11I) Euglena
IV) Chlamydomoncas

V) Urceolus
GO
I) FPOCIalr

1) FeS D
m)  airdor
V) SVE TS

V) €90y AP

\(IT

\(T



Question Number : 51 Question Id : 7196501971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the incorrect combinations

S.No Parasite Infective stage toman  Mode of infection

I Plasmodium vivax Sporozoite Biting of male
Culex mosquito

II  Entamoeba histolytica  Tetranucleate cyst Contamination of
food and water

I Ascaris hunbricoides Miracidium Contammation of
food and water

IV Wuchereria bancrofti Third stage microfilaria  Biting of female
Culex mosquito

ATV ALY @C:J?C_’)Qi)réo W VO DY Doad)ed (WOools.

od. Do DTS 88 0372508 Do¥sdues (o8 V053068 AP0
I gedgdabe Ju8, FNTEED St srperdy B
S DY
II  adodadar rFods <S¢y 0% §'do Een890a A,
&3P G50
M e300 wedsravco  DTRGONe £e0326953005 A,
PS50
IV &886alr ares) P CeaS &8 F POOOI®  eset gyé@gb &3
D )
Options :
I IO
1.#
, I, IV
0. III
L I
4.9

Question Number : 52 Question Id : 7196501972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

The following are the different stages in the cycle of Golgi of Plasinodium. Arrange
them 1n correct sequence.

I Amoeboid state II) Trophozoite

III)  Ervthrocytic merozoite IV)  Schizont

V) Signet ring stage

R EQts Gy, PO SEoc 8o (58 S YEEP0N0. HED KOS S0 55006 B35 306.
) a6 54 o  &S¥rgcn

M) 8 58 HTBEw IV)  o@ed

V) DotDYgsd

Options :

OLIV,L V. II
1%

LILOLIV,V

2. %

_ V.IV.ILLI

, 1LV, LIV, IIT
4.4

Question Number : 53 Question Id : 7196501973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :
Statement I: Adolescence i1s a very vulnerable phase of mental and psychological
development of an individual.

Statement IT: Use of TDA even once, can be a fore runner to addiction

DAPSS L1 28 Sg8 SPSVE, HSVEPS WRSYOT TG I Q. Frod e
DONEEPED.
HSPGS IT 1 TDALD 28 0 S08oTe), @b $g00°08 w0 Saiddny.

The correct option among the following 1s

&3 S0l 00)FOS O3

Options :



Statements I and IT are true.

- edardden I, I 0850

Statements I and II are false.

V3PS I, I 0030 5°69)

Statement I 1s true. But 1T 1s false.
LA ANE RUSIN AR VIR ATV | RSTOIN AR A

3. 8

Statement [ 1s false. But II 1s tue.
DAPGS 1 0050 5260 5°Q DB 11 0050

4.%

Question Number : 54 Question Id : 7196501974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the product “x’ that 1s reabsorbed in the Malpighian tubule of cockroach.

5 Go% TP Y200 TEPES )8 R Wold ‘X &EHYTR) D, (Qodel.

Ferhanh ards

; ; H:{D X
Potasslumurate CO-Q

| Hindgut
| woorgrsavo

Distal secretory cnd Proxmal absorptive cnd
| (&35 aroro 3808 T8 w0

Options :
Potassium carbonate

a’réﬁ&zcﬁjo 9(‘.})6 2?1‘365
®

1.

Potassium oxalate

| BT S80S



Potassium bicarbonate

ﬁ“@@&ﬁo @S"ﬁaar&‘ﬁ

3.¢

Carbonic acid
5°55£ﬁ3§ &0
4. % 4

Question Number : 55 Question Id : 7196501975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

Sclerite Location on the head of cockroach
A) Vertex I) Cheek Sclente
B) Frons 1) Sclerite bordering the occipital formen
C) Clypeus IIT)  Front large sclerite
D) Gena IV)  Narrow rectangular sclerite

V) Top of the head

308 eI 23¢9 HBWG
?ogge.n e5°008 R Gioll %0
A) 8o I) foled f‘ogge.))
B) <Swa Dot I)  ODEFO SoFPa), 8 Gols 3,060
C) ZAHD IOI) 5060 JR) ol 26 DOZo m
D) &% IV) &0 Sedyrss) f’oége.u

V) SO g%l

The correct match 1s

DOADAS 23¢9
Options :
A B C D
L V 11T IV I
A B & D
I II V 1A%

2.



v I v
3. %

A B 3
L M IV

Question Number : 56 Question Id : 7196501976 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Observe the following diagram of ommatidium of cockroach and pick up the correct

set of labelling:

Sold @655&)(?9:5 ﬁ@oé c:f},gc‘g @@”ﬁ}l 003Dd DO (‘ﬁ)gozﬁ&&cﬁ PSS! EOx:}L)S“oU&F ﬁ)@oxﬁoa

Options :
I
Cornea
%Jg 0E6
1. %
I
Rhabdome
XJU%SQQ CSQC&Q

2. %

I

Crystalline cone

@U"&’Jéé Solio

I
Retinulae

5@_ Do Eegee)

III

Iris pigment cells

DOTPEE 5.‘;%55 Eggee

I
Retinal pigment cells

f@ e :ﬁn;ﬁ Eggee)



I II I

Crystalline cone Rhabdome Pigment cells
X.)D\stg FoH0 LU"égé Lolio 35(:)5 ¥gdo
3. %

I II 111
Crystalline cone Rhabdome Retinulae
0e38 dodo DTPSGE Solio I Do FePen

4.9

Question Number : 57 Question Id : 7196501977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The density of the population will increase when:

O S 2T FolS 65 HB.
Options :
(Natality + Immugration) = (Mortality + Emigration)
(23033 Bl + SN TRSGo) = (208 T + S0 FPdeo)

(Natality + Emugration) > (Mortality + Immigration)
. (230305 BEW + SLR FSGo ) = (20088 T + S0 T°5Co)
2.
(Natality + Immugration) > (Mortality + Emigration)
- (23053 Bl + S0 TRSo) = (Sodes B + SR FScso)

(Mortality + Emigration) = (Natality + Immigration)

. (20863 B + S0 Fadlie) = (230305 B + S T25¢se)
4,

Question Number : 58 Question Id : 7196501978 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Match the following:

A)
B)
C)
D)

List-1
Mutualism
Competition

Parasitism

Commensalism

075 2eSeSo

2 E 2830

The correct match 1s

OGS 8¢5
Options :
A B
IV %
1.v
A B
_ vV v
A B
It I
3. ®
A B
IAY II

4.%

'\(.T

I0)
ITI)
V)
V)

1I)
110)
V)

V)



Question Number : 59 Question Id : 7196501979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following is a green house gas?

808 TEOS" TPOSHET TrAIDAD (B0t ?

Options :

Ethane

L« 885

Chlorofluoro carbons

. E8YB=G 0w

2.
Methane
Nitrogen oxides

\ AR BSGLD

Question Number : 60 Question Id : 7196501980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Statement I  : In human beings, molars are absent i nulk dentition.

Statement II  : The hardest substance in human body 1s secreted by odontoblasts.

23RS 1 : GSPRSeDR) PLd DTS WSOREITPEN Gotéad).

S
DAFSS IT 1 SoeSad BPeS'Q @ DyGaida DGR, Loed @ 055 Seren QOFOw.

The correct option among the following is
&1 $ol DAYFTOS HOGVSE
Options :
Statements I and II are true.

H@pessen 1, O3S0

Statements I and IT are false.

ST I, T80 w69

2. %



Statement I 1s true. But II is false.

HOFES 10030 O HAFES 11030 S

3

Statement I 1s false. But II 1s true.
v é@ij"c‘é{é I 5056 570 2 g@iﬁcﬁé IT 5335&

Question Number : 61 Question Id : 7196501981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Assertion (A): In the transport of carbon dioxide by blood. bicarbonates are formed in
plasma and in red blood cells, but more rapidly i RBC.

Reason (R): RBC contams higher quantity of carbonic anhydrase than in plasma.

D8P0 (A): 8% org0P U0 GOrE G SamereS” PSE ydin Py eSSr, W0 S5Smras’
8 o0, 0 RBC 50 $50%6rP Q& \G&Fow

sGeo (R): RBC & 20°)d8 oS Thw o3 do@Bln P& §u7) 00F DOSrees
= AVETA)

The correct option among the following 1s
& 800 DRFOS HOALIH
Options :
Both A and R are true. R 1s correct explanation of A.

A 350050 R 0230, A § R 00 2568

Both A and R are true. R is not correct explanation of A.

A 003w R dazo. A 8§ R 008 Qa58¢e 5780

2. %

A 1s true but R 15 false.

A 230, 30 R Q2zo 5280

A 1s false but R is true.

A 230 0. 0 R Qzio

Question Number : 62 Question Id : 7196501982 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The composition of lymph and blood plasma are almost the same except for the absence

of

3R Go HOCKL CF Py Al Jodudde S0l RIS dl) Sy TP &8 IWorP
=ANTAT

Options :

Lymphocytes

3 RGD Eeee

Neutrophils
wgﬁjﬁ FLISY

Erythrocytes
RS

Antibodies
ey DB
L)

Question Number : 63 Question Id : 7196501983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Following are the parts of nephron
I Proximal convoluted tubule 1) Collecting duct
III)  Distal convoluted tubule IV)  Loop of Henle
V) Malpighian body

S8y DTS gL Sold BSgIEE00

D) Dy VeSO To9E D) %5 oov
M) Sroed Hedsd aeds IV) 2o a0
V) Sr0yechHd 3%

Arrange these parts m correct sequence.
S GO 00 $addo€” @08 0k,

Options :

V.IOTILIV
] ®



V,LIV, IO 1I

V.LIV.II, II

VIV, IILIL I

4. %

Question Number : 64 Question Id : 7196501984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A - band in skeletal muscle doesn’t contain:

©Q) 5ol A — DB GolidR

Options :
M line

M- O

1. #

Thm filaments
05,0 SodafHen

Z line
-0

Thick filaments

00 S0t

4.%

Question Number : 65 Question Id : 7196501985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following:

Spinal nerves

A)  Cervical nerves

B)  Thoracic nerves

C) Lumbar nerves

D)  Coccygeal nerves
S0l 73 3 HGWEets:

$380 e

A) (o rdow

B) &&: ardoww

C) & ardoen

D) &8 ortow

The correct match 1s

OGS 225
Options :
A B C
I Y 3
A B C
o B I Y
A B
III Vv
3. %
A B C
vV 11T I

4.%

Number
I 12 pairs
II) 8 pams
1) 1 par
V) 6 paus
V) 5 pairs
o8y
I 12 a3¢%en
1I) 8 athen
) 1
IV) 6w
V)  5e%en

II



Question Number : 66 Question Id : 7196501986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Statement I : Thyroxine regulates the basal metabolic rate

Statement II : Thyrocalcitonin plays an important role in maintaining the calcium and

phosphate levels in blood.

DOFGH T PUED TG £BE0H Gewd DAoIR00B.
DAFSR 11 : TS OV 650e5° 5700, R yEw FOVOSD AAHSR.

The correct option among the following is

& Sl DRYFOS DOADI

Options :

Statement I and statement II are correct

DAFED T 0805 LAFES TT HOSD

Statement I and statement IT are false

DAFED T 208050 DAFE T DTSR 5°65)

Statement I 1s true. Statement I is false

DATED [ DTS, DAFE IT DTS ¢

3. &

Statement I 1s false. Statement I 1s true

DAFAD T D05 2, DA G 1T D850

Question Number : 67 Question Id : 7196501987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A): Spleen 1s a secondary lymphoid organ.

Reason (R) : Mature lymphocytes become functional lymphocytes in it.

@J%ﬁl‘fﬁo (A) : jn_.jlgﬂ"o gk &S@Cﬁ) DoaPONG 296505650
80 (R) 1 0068 D0 Sodrden S $a5edy 8 Qodrdere Srederow

The correct option among the following is
&8 8ol O HOGIE

Options :
Both A and R are true. R is correct explanation for A

A $0050 R %o, A § R 905 956

1Y

Both A and R are true. R is not correct explanation for A

. A 00w R Qago. A SR 00 Daides %0

2.

A 1s true. But R 1s false

" A D220, O R Dzzo 20

A is false. But R is true

A Q220 580, 50 R Qeco
4. %

Question Number : 68 Question Id : 7196501988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Statement I:  During spermatogenesis, the sperm heads embedded in sertoli cells are
finally released from the seminiferous tubules by the process
spermiogenesis.

Statement II: The mature follicle called Graafian follicle contains secondary oocyte.

DA POSL D adSoes DF Serw Ben AP Serw) 56 Y505 @oBINGrP GolI0w.
B0 VPO K0 Dok DFTNGE  TPIOSE I WlwrR) DF ¥
2Ie( spermiogenesis) @otred.

DO PSS IL  HODEY DEIE 00N TPHOHS DEIES” BIBOD ots ST &otod.

The correct option among the following is

&8 $ol DNFOS DOADLIB



Options :

Statements I and II are true.

HEFGI 10050 TT 5050,

Statements I and IT are false.

AL AN VIS INVolo iVl | BTSNV RSN))

Statement I 1s true. But II 1s false.

DOFES T DB, FO HAFESS TT D00 F

Statement I is false. But IT 1s true.

HAPES THDSH T, T PAFES 9SO

Question Number : 69 Question Id : 7196501989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

I) Barrier contraceptives like condoms prevent STDs.

1) The 1deal contraceptives for spacing the children are TUDs in India.

II)  Depotmedroxy progesterone acetate mjection provides contraception for three
years.

IV)  Oral contraceptive pills inhibit ovulation as well as implantation and alters

cervical mucus retarding sperm enfry.

S0l 8907 @G50%Je WOkl

D) (555 AOTPS G 5" TehE Doy TP A OFOW

II) arOBRds oo iy Wit Goltrds N0 BUHUTEE wde (oryIalreedd
POTO,

) GIFDES) FEJOR HJUGE ol Ird ot Ho)mrdn a36iifem® Drd
RoadTPL S8 O&E BVl

IV) 60y AOEE SIS0 @eGeTR) , Doté HB FOSS AGGD $o7)Ioh Swaeryd
gy (DEPQ) S0PG0Y WR D e D372 ATPOLO.

Find out the correct from the above statements.

2 @oFTOES” DB TR Qedels



Options :
Only I and II are correct

LI S x99

Only ITT and TV are correct

I IV So7edd 00~
2. %

Only I, IT and IV are correct

 LIL IV &S 0050
3.¢

L II, III and IV are correct
L II, TIT, TV 085

Question Number : 70 Question Id : 7196501990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If one gene mfluences many phenotypic traits, the phenomenon is called

28 20gad) 0IB0y,85 5 ydg Grare DeTedthe WA Gyfgaie
Options :
Polygenetic inheritance

aam@;’aac&& 905038

Multifactorial inheritance

2TV SO 2900508509

3. &

Multiple alleles
BRFORAGY DELyTELD

Question Number : 71 Question Id : 7196501991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :



Assertion (A) :  In honey bees females are diploid and males are haploid
Reason (R) : Females develop from fertilized egg while unfertilized eggs develop

into males.

28)%0 (A) @ SDIEBHLS B ST SIONIBSD, 0D DEPBSTD &obraw.
0o (R) @ @ @3¢en H0HE0E0 BodS Bomrnob, o0 @3¢5 DU

5080 D0t @GNt @B:Jég@ wolEPow.

The correct option among the following is
S8 $od DQYTUS HOALIG
Options :

Both A and R are true. R 1s correct explanation for A
A 300050 R Qeze. A 8§ R D0 ddea

1LV

Both A and R are frue. R is not correct explanation for A
A 200050 R Reze. A § R 00 0e88e s°¢o

2.

A 1s true. But R 1s false

g A J2go. 0 R Qeso 0

A 15 false. But R is true

. A 220 . 20 R Qo
4.

Question Number : 72 Question Id : 7196501992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following:

Karyotype Sexual phenotype
A)  AAXX I) Metafemale
B) AAXY 1I) Female
C)  AAXXX Iy  Male
D) AAAXX V) Metamale
V) Intersex

= L‘.SO?J"\.EQ) ot o
A)  AAXX D) ©68eEd
B) AAXY ) &2
C)  AAXXX I ooz
D) AAAXX IV)  wdopdoned

V) 58t 6D

The correct match is
SO e

Options :

A B C D
w10 111 IV I

A B c D

I 111 I A%

2.

A B C D

I II [ IV
3. %

A B C D
o8 v III Vv I

Question Number : 73 Question Id : 7196501993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the mcorrect statement:

S0l T WE(AD0 B BBS'A) WoT) BotdoC..
Options :
Erythroblastosis foetalis is caused when Rh™ mother carries Rh™ foetus.
Rh™ &9 K0°yd0ieeS” Rh™ dolie @2)8y8 Dot S DB YRR 2O

Doz,
1. %

In honey bees, unfertilized eggs develop mto drones

8D 8008 HUbEER0 DB HEd Bor Sl @SR JetTow.

2. B
Genes located on non-homologous part i Y-Chromosome are called holandric
genes
Y §areadan aing) Dderde PR 2R508 D a0 SF PGS 2z
9ot.

Thalassemia 1s an X-linked recessive disorder

=

BN &8 X050 @oBID 8y WDID

Question Number : 74 Question Id : 7196501994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

. . R < e . . e .
The hormone that stimulates the reabsorption of Ca™ " 1ons in the uriniferous tubules 1s

PGPS TOES Ca'™ ©OIPDO % FHES PODD T
Options :
Parathormone

JFoerdS RN

Calcitonin

OV AR
2. %

Thryroxin

[AISEIS

3. %



Vasopressin
TFFDIQ
4. % i

Question Number : 75 Question Id : 7196501995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In human evolution, more ape like individual

53PS DOEPSe & 578 S §'AR(ape) D &Sy &8

Options :
Astralopithecus
&09eTDEISD

L& F
Drvopithecuis

| GOIPEISD
0¥ ¥
Ramapitheciuts
OP0m0e350

3.

Homo habilis

. TFXP Teddm

Question Number : 76 Question Id : 7196501996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Follow the three column matching and find out the correct combination.

S.No Era Period Significant event

1) Palasozoic Carboeniferous Origin of cotylosaurs
) Palaeozoic Permian Extinction of trilobites
IIT)  Mesozoic Triassic Origin of dinosaurs
IV)  Mesozoic Jurassic Origin of birds

208 woTLD 6l0lde B 595 o Dosyendd ﬁ)ga\:ﬁo&

. %0 e ofutic oSite sddang Doadacs
I} 33@&3?23"0.‘05 ?ﬁﬂaﬂaé{j fﬁgﬁoﬁe_} 9:950‘“90‘5@
IT) ~Odirions 2 00e 9508 & dewge
1) Qoresiows goirnE EITY wacryde
V) aodraiiows o5 w8 BAT 2},‘50
Options :
Only IT & IV
e LIV aSrg®
Only IIT & IV
IIL, TV &Sooe9a%
2. ® =

Only L. IT and IV

L II 00an IV &g

3. ®

I II. ITT and IV

L II. I vocsw IV
4.9

Question Number : 77 Question Id : 7196501997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Peripatus is a connecting link between

DODDG DD a8 e8S DY

Options :



Reptilia — Mamimalia

28 aren — S6Tren

Reptilia — Aves

2}.

8yaren — DL

Annelida — Arthropoda

93G° — &—9@‘53@“{‘.’5

Protozoa — Porifera
p gﬁfﬁ‘aee@ — oo

Question Number : 78 Question Id : 7196501998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

a-1 antitrypsin is used to treat

a-1 Qo3 NS & D DIBYH DIDFAFE
Options :
Emphysema

L o:)ogﬁ.k:ﬁ“

Phenylketonuria

. D0 8¢5 Spg Ol

Haemophilia

Sickle cell anaemia

§GSEO Bea G¥ora3es

4. %

Question Number : 79 Question Id : 7196501999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following:

Type of cancer

A)  Carcmoma
B) Sarcoma
C)  Familial cancer
D)  Sporadic cancer
Sold PEIN 2388 DGl
3‘”‘:5&5 o1
A)  OyTEe
B) énefgjw
C)  Sodoerw 30
D) 3005 58 P3G

The correct match 1s

LOADS 23¢d

Options :

A

III

3. 8

B C D
IAY V III
B C D
III I 1Y
B C D
I A% II

Affected tissue

I) Genetical

II)  Epithelial tissue
1)
IV)

Non genetical
Connective tissue

V)  Nervous fissue

éwéé&o&a $oazrec
I) 23:ddg PO
0 e Serwo

95050350 PG
Do0dres¥ Eessrto

TIT)
V)

V) & Smeroo



Question Number : 80 Question Id : 7196502000 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : MRI 1s a very safe diagnostic procedure

Reason (R) :  This technique uses magnetic resonance.

D30 (A) : MRI & .Dg“da'ae'ie e QBASD DSA.
5°6%0 (R) @ S HSCHIS" 00T, 0% 0T DICIFHIFE.

The correct option among the following 1s

&s 5ol DATOS” HOGSR

Options :
Both A and R are true. R is correct explanation for A

A 5005w R Qazo. A SR 288 DD

Both A and R are true. R is not correct explanation for A

A 0005w R Qazo. A SR 28 DHdes 5°¢.

2. %

A 1s true. But R is false
A Dzo. 520 R dao 5°¢»

A 1s false. But R 1s true

. A Qzo 5°¢D. 570 R Do

4.

Physics
Section Id : 71965042
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 71965042



Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 7196502001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the scientist who experimentally verified the predictions of theory of electro-
weak force.

D03 EIYD BV DAFEIVD 0 TLII HOTFTPEY Sl AEFREDTE.

Options :
Carlo Rubia
S°§ Sredaioe
1. %

Abdus Salam

€900 P
2y
Steven Weinberg
?8235 D &J§
3. %
Edwin Hubble
NN R IAVS]
4. %

Question Number : 82 Question Id : 7196502002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



At normal incidence. a beam of light propagating in vacuum reflects of an

mterface with a medium of refractive index n= 3. The fraction of energy reflected R 1s

( Y2
. n=1 : . . _ .
given as R = - | . If the fractional error in the value of n is 1%, the fractional
\ 1 ‘l‘ _).'

error in the estimation of R 1s

B oD 2orsd LPSgets HOOGT SEISS Gomto n = 3 €0 ¥ OIPSE GG B
(interface] 9200020 WJ0 wWold XJO"SSéc:'}O Roleby. & OSPSE 5)0‘&59@ o3 gRtiedl

(1)
[ n—1
=| ”—1 P g, N eNds dR et 1% ©@on® R ensds” 80wl
I\H-E- A
ATSERo AN
Options :
1.5%
1.
2.0%
2. %
2.5%
3%
0.5%
4. %

Question Number : 83 Question Id : 7196502003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A man m a lift ascending with an acceleration throws a ball vertically up with a
velocity V and catches it after time 3 sec. Afterwards when the lift 1s descending with
the same acceleration, the man again throws the ball vertically up with the same

velocity and catches it after 1 sec. Find V (use g=10 m/s?).

28 B3 KBS 2 DS OPS” &) B[S 28 208D V7 Ddnd
QAP DS JITCD, & 203 3 V1| SDOTS DT IW. T ST(S &
608 0D S0 D)W HoL e B8 o8I 0d DHANE LD
28 DT, @A 1 111 BBTS DETIW. V& S0 dod.
(g=10 m/s? e &0E'0d)

Options :

7.5m/s

9.0m/s
2. %

10.5 mv/s

12.0m/s

4. %

Question Number : 84 Question Id : 7196502004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
An object 1s moving i a plane and its trajectory r(f)(in meter) i1s given by.
r(r):{Srz +2¢)i+2t j, where t is time (in second). The angle that the velocity vector

makes with the X-axis at t=0.

af S0Pl D80S IO o PEOS  SrgSw  r(r) (Doeshwes’)
r(0)=(3r2 +2¢ )i +21 j 0P BSRIGID, BEHG T FOS IEIS. 1= 0 5¢ X-eogawd Do
6% 305 S'easy

Options :

00

1. %



30°

2%

45°
3.

60°
4. %

Question Number : 85 Question Id : 7196502005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A ball is projected at a cliff of height H with an initial speed of 100 m/s at an angle
30° above the horizontal. The ball hits the point A on the cliff after 5s. The height of
the cliff is

(Assume g = 10 m/s?)

2 200630 S92 DairetdTrsd 300 §'sasses® QS0P &) H &0 do oeedhdy (cliff)
23 100 m/s e5O3riaSned” DEDEISN0 IODLEID. & 2003 5 V11 ST @ TPSd O
A FSo 56 TEIB. & TPSHE I

(g =10 m/s” 95§ 530)

Options :

50m

100 m



150 m

Mandatory : No Option Orientation : Vertical

Question Number : 86 Question Id : 7196502006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

M

(A
=|38)
T
constant acceleration a= | -0.51—1.0

A particle starts from the origin with an mitial velocity v=|
L
A \I

]m /s and a

)

. 2 . o .

] ]mf s°. The velocity of the particle when it
\ A

reaches 1ts maximum y coordinate 1s

B EES0 SPURIY) b eSeaiSion  eFOSHMD E:[?).o i
_ I."
QOB Geasw a = —

mils 006050

|\ 0.5i-1.0] |m/s® EDHob. & Kot T K0P ¥ SEFHESH IO

PR oite

Options :
2i
1. %
150 + 1.5]
.
150

1.5i + 1.0]
4. %

Mandatory : No Option Orientation : Vertical

Question Number : 87 Question Id : 7196502007 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Correct Marks : 1 Wrong Marks : 0



A constant horizontal force Fof 30 N is applied to block A of mass 10 kg which
pushes agamst block B of mass 5 kg. What 1s the net force on the block A? The

blocks are placed on a frictionless table.

RSO IV 292 DSBS wewe F 30 N D 10 ke Qadg0P8 o Qaly A @
DOFHoeGS N @0 5 kg (5073 0 Qady B § SgBTE50P 3éeabcdh. wond

Qg A 2 SO0 V0o dod. & QL) e S BIYI GoudtdGn.

30N A
10kg | B

Options :

20N

ISN

2.

10N

3. %

tn
Z,

4.%

Question Number : 88 Question Id : 7196502008 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A particle 1s tied to a string describes a vertical circular motion of radius r continually.
If 1t has a velocity ,/3gr at the highest point, then the ratio of the respective tensions

in the string holding it at the highest and lowest poimnts 1s

AN DS af FSn T PgPROSn FONS IO SyTFFE SrdetS IGeSGerr
WOoIEN . TP H0R Wolied) S & S JiS0 f3gr $86 &) H, Bowd @
05 ST (0 00K B PPL 5¢ Godda )i & SHS" SO0 SBdgtu Giwg) WD

oJoth



Options :

4:3
1. #

5:4
2. %

1:4
3.¢

322
4, %

Question Number : 89 Question Id : 7196502009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An elevator can carry a maximum load of 1000 kg 1s moving up with a constant speed
of 2 m/s. The frictional force opposing the motion is 2000 N. The minimum power
delivered by the motor to the elevator 1s

. gl
(Assuming g=10 m/s")

a8 OQ 1000 kg 503 20800Hes” 2 m/s DTS Iicied” 05 Senthod. TP WOT),
$3B0805) $008 2000 2000 N. 28 D50gS Ao &8 ODH WotdED D FGgesw

(=10 m/s? S8y 8)

Options :

18 kw
1. ®

24 kw
2.v

20 kw
3. %

26 kw

4. ®
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A
A force F= ( ]r +(4N) j, (where x is in meters), acts on a particle. Assuming

that only kinetic energy 1s changed the net work done on the particle as it moves from

[ A A AN
pOS‘lTlOH 2i +%;Jm to (31’ +1j |m

)

wf wosy F=(3N)i+(AN)], @5¢ ¥ H0IS 9b) of Ssn D
K’ A r\\
DAIPNDWGIR. (1d22ES SPGB POl &P, VYW & Seasw 3; m

‘\
5500 S0 | 31 +1 | 355080 30000, TR S0k U5 B
k‘\

A

Options :

107
1. %

157
2.¥

2017
3. %

23]
4. %
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Consider a two block system having masses Ma = 3kg and Mg = 2kg, as shown in the
figure. If block A 1s pushed towards the centre of mass through a distance 200 cm, by
what distance should the block B be moved so as to keep the centre of mass at the

same position.

DOBNG rDSEN A 00T B ed Dot &Igw dng GSgorHen  SSure
Ma = 3kg 0005 Mp = 2kg 50 Gotio a0 S5 08’ s. By A & o) $550°3
Zogiedn X 200 em GFSS50 LI, T G0, 55078 ZoBo ©d Botioss) ¢
a$)oTold Gy B Q 0ot &rde 23670,

Options :

200 cm
300 cm

130 cm

250 cm
4. %

Question Number : 92 Question Id : 7196502012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A A A £ a A AN
A force of { Ti+3]— 5k1 N acts on a particle whose position vectoris | i—j+k Jm.

: , \

Find the torque experienced by the particle about the origin in N-m.

AA ~ 3

PS0eE [ i—j+k}m ™ o a8 Sl [Tri+3j—5k N odn J0irfedatdd. wond
\ /

S0PL otiad) (oG & Se3sild @-ZIFe Dodd 200050 270850 Dewss N-m T 0ot

Options :



21+12j+10k

1. %

3i+10j+12k
2.

10i+12j+2k
3. &

12i+10j+2k
4.9

Question Number : 93 Question Id : 7196502013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

A damped oscillator consists a mass-spring system with mass 2 Kg and spring

: — (dx )
constant of 10 N/m. The damping force 1s given by —b!'l ?:; J where b = 280 g/s. The
i th
time required for the amplitude of the oscillations to reduce to one-fourth 11 of its
\ o)

initial value 1s:

(Assume M2 =0.7)

¥ NG COESNS Gdg0ea-A3900) Sgaddd EDNDeR. P Radgo™3 2 Kg 008w

F ke
23906 07e%e 10 N/m. @568 won _b!tTT | ssgGed. B b = 280 gs.
5 A at |
Il{ .‘I
2900ed Zoes HOLE D PCods DesseS” L%Jé 3508 eC1goluEL DLW 5PLS0 Doth:

(M2 =0.7 ©3%0t%)
Options :

145



Question Number : 94 Question Id : 7196502014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

The escape velocity of a spherical planet of radius R and density p 1s V. If the radius
of this planet 1s changed to 3R and density 1s changed to 3 p, then the escape velocity

of the planet will be changed to

8 T9o5°8 (5070 GIE), dPgPdasn R SH0050 Foleh p 0w tPd alwg) HerahsS oo
V. 233¢ (fire ol argPdein 3R 50 00050 Pofi®ed 3 p S5 rd)ond, &
(3Pe OO0%), DEPONS oot 00 3200y

Options :

OV

2.

243 v
3. %

343V
4.9
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A wire of 2 m has its one end fixed to a rigid support and a mass of 4 kg 1s suspended
trom the other end. If the radius of the wire is 0.2 mm, find the extension produced in
the wire.

e Neglect the mass of wire

e Assume g=9.8 m/s’

e Y =98 x 10 N/m?

2 m 3rcad) $DI af S G DG Dyté WEPGodS 2o HOGINE WSS 4 kg
ed3073ed” JUrEoDGIR. S gy drgrdan 0.2 mm eon® o S’ 590 P
o B (55300 X 0Nl
¢ o=98m/s’ T &rocS el

e Y=98x10"N/m?

Options :
1
— Cm
yIs

1. ®
— Cm
n

2.¥
— ¢
n

3. %
— m
T

4, %

Question Number : 96 Question Id : 7196502016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks :

Select the incorrect statements from the following:

& 808 LIS )8 HOTRNG F°& 00Sel.

Options :



Bunsen burner and sprayers work on Bernoulli’s principle

BN B FUEID SO0 Wady DOEGS0 83T°) O LrPe & DUIFOW

o

1. ®
Blood flow 1n arteries 1s explained by Bernoulli’s principle
B0 68 DOTEID 83T ) O Droes” D500
2. ®
A siphon works on account of atmospheric pressure
TSGR e & (on account) HFS(siphon) HADL00
3. #®
Relative viscosity of blood 1s always constant in humans
3&36}@5065" Cﬁ_§no Pk cﬁlg@ ojfg@g@ rz}(jorP oﬁ)ot‘h)o&
4.9

Question Number : 97 Question Id : 7196502017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Specific heat of an ideal gas at constant volume C and at constant pressure C,pare

related to universal gas constant are as

8 58503 TO0GYH T8y, O SoSHOSTESD B¢ DAY €., 0B B HESI S¢ DY

Cp ©ond & Dot & O sy S5 O PoPoENS” @) DUMOWS Vozsolendd SO

b4

aﬁjod&”&lﬁ

Options :
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Correct Marks : 1 Wrong Marks : 0

A body cools down from 75 °C fo 70 °C in time (At ), from 70 °C to 65 °C in time

(Az,) and 65 °C to 60 °C 1 time (A, ). The correct statement according to

Newtons law of cooling is

a8 S50 75 °C Sl 70 °C &FEB% (A) Swots, 70 °C Sk 65 °C % (At,)
oS 200N 65 °C Kols 60 °C X (Aty) 5o 020GH0GS0 00D SPgti

IBOEEe Lo D570 DOGS D5 (statement)
Options :

Al > AL >AL

1. ®

At <AL <AL
2.¥

At =At, =AL
3.8

2At, = At > AL
4. %
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1 gm of water at 100 °C, is completely converted to steam at 100 °C, occupies
1800 cc. The increase in the internal energy of the molecules is:

(take the pressure = 10° Pa, Latent heat of vaporisation (L) = 540 cal/gm.1 cal =4.2 ])

100 °C &Fde &8 HJ), 1 gm v @ 100 °C HG JPOre AL en0mr SrdoySed
1800 cc H0a500a50°88s505) 55000, &5 AE) eEL9)L GIE), ©oEeH F8e5° DL
(&S0 = 10° Pa, 20°50 )5S (0re (L) = 540 cal/gm. 1 cal =42 J r= 3008 dw)

Options :

2088 7
1.«

2488 1]
2. ®

217817
3. %

2218171
4. %
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Correct Marks : 1 Wrong Marks : 0

Two cylinders A and B of equal capacity are connected to each other via a stopcock.
Cylinder A contains an ideal gas at standard pressure Po. The cylinder A & B are in
thermal contact with a reservoir at temperature T. The stopcock is suddenly opened.
After the gas reaches equilibrium the pressure P 1s related to the original pressure Po

by

0a83eS PRgegen o Sotld ?J"iﬁ“@d(cﬁ@odﬁ&b) A S000k0 B aulmrded” a8 ws Jayd
Q8 DPOeed” SLDwEaHTe) 0w, DaiTes e Py &¢ e Al @0y POl
5Qudol. A 5005w B Qraren T aied o9 &ad) 0eorgofdued” 6 Dogvotio(thermal
contact) & &J)D. Ged ATV &) Enols BEITE TPOia DTVBE IO
ST cdo P PR0E sxtecdo Po © addg Dototde

Options :



, 2
1.
P=F,
2. %
P=2F
3 ®
P=PRlog2
4. %

Question Number : 101 Question Id : 7196502021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A bat 1s moving at 10 m/s towards a wall and sends a sound signal of 6.6 kHz towards
it. On reflection. it hears a frequency f".Find the value of f'.

(The speed of sound = 340 m/s)

2.8 edyodin 10 m/s 3icined” 2.8 GEIS5 DOIrRlr 6.6 KHz ardaddgan (o d
RoSEPOD POTE Wo®. DTPSES0 Woldd Boryeh & (TN D dop Sy Sgain f.
D [ D08 ESAT S0k
(B30 3050 = 340 m/s)

Options :

7.5 kHz

7.1 kHz

4.%
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Consider a glass and water interface. If a light ray incident at the glass water interface
with an angle of ‘i and the ray emerges parallel to surface of water, what is refractive

index of glass?

P2z 000K D€ GG BN DHOMIBTVE SWEIS, &8 GYE BOLND 28 Fod
80gaas ‘I’ §eaain éc? D50 WDl & &DOMerS DadPetdinrr 22 OBN0NR. & TPe

0Ty, 582358 (eadaln

Options :

1
1. %

1.5
2.

1

SIn 7
3.

sini
4. %

Question Number : 103 Question Id : 7196502023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

A light ray through a glass prism of angle 60° under goes a minimum deviation of 30°.
What 1s the speed of light in the prism?
(Assume ¢ = speed of light in air)

2¥ S0 oS 60° DG S'mie FONS Py DOHZSD (ot HOUREHodID Y & Fod
oo CINE), EAD DVOSK 30°. 0w P HEESW & Fod dtfo oot
(€ = SPod c3t5es0 TPOES” e9:50%0et0)

Options :

2| N

e

2. ¢



2c

4.%

Question Number : 104 Question Id : 7196502024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Two 1dentical light waves, propagating in the same direction have a phase difference

O . After they superpose, the itensity of the resulting wave will be proportional to

0ot D00 520 BorPe a8 OIS ORI “J7 GFPEIS00 ¥DHI) . & Coldd
Fod  QokSNe WrgdimsD WS Shard 300, 08 PSS S
£9:30€5 0P ar 95005 aetloly.

Options :

cos (&)
1. %

cos (0/2)
2. %

cos” (6/2)

cos” (8)

Question Number : 105 Question Id : 7196502025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An electric dipole 1s placed in a uniform electric field. Assuming the angle between

the electric field and dipole axis 1s 45°, the dipole will experience

8 D5 BYEIBEFDEN(GIE) VDO DS FB0ES HoSWESD. DS TGS
50050 EFS GOS0 Sk 45° SHEVS FIS OLEFS

Options :



a force that will displace 1t in the direction of the field

EHST PR PSgfodo DolEXRNTP ol L0LPD),

1. ®
a force that will displace 1t in a direction opposite to the field
SO0 SgBOOIT TP FPdafodo WoldSEL auf L)
2.V
a torque which will rotate it without displacement
Fieodo WoldowdBel® TPUD B 28 LIS gFeSES050
3. %
a torque which will rotate it and a force that will displace it.
TP B2 &8 03N ER0ER0 SO Piefodo Woldowd 8ol 2P
4. %
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The equivalent capacitance between pomts P and Q i the following circuit 1s

&5 800 SLANOE” P 50050 Q Dot Sa¢5g Ko g E3re9350

2M\V \ <
e /\ 4uF

Options :

2 uF

4nF



8
—uF
3%

Question Number : 107 Question Id : 7196502027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0
A metal wire carries a charge of 1200 C in 20 minutes. If the area of the cross-section
of the wire is 25 mm? and the material of the metal contains

6.0 x 1072 free electrons/cm’, the drift velocity of the electrons in the wire is

w¥ S & 20 PO 1200 € 93850 $O0 &b, & & alng) 53365513‘:,{5

PO 25 mm® $H005 & S8 TGS $ONPels DY) DOFIHL Dotdg

6.0 x 10722 ngj&w / em?, 000 & SHES” @ols OFIHL NG drift) S
Options :

4.9 x 10 m/s

1. %

42 %x107° m/s
2.¢

4.6 x 10 m/s
3 #

4.5 % 10%m/s
4 %
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Find the current I in the circuit below that flows through 20 {2 resistor.

8ol WP DD SLONES 2002 GBS0 et DaSsrod DS HarsrSn (current) I

300
——— M
20Q) 20V
I ’ I |
| M
30V 20Q2
Options :
13
—A
8
1. %
17
—A
8
2.«
21
A
3. ®
23
—A
8
4. %

Question Number : 109 Question Id : 7196502029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

In the case of a moving coil galvanometer, the deflection 1s

500 &1 & rrer e K DN @DIGIEN @S

I

Options :



non linearly proportional to the current

DB DIY NS SPGB Hotich

1. ®
directly proportional to the current
@@58553 2905 3P P HeeS” ofolaodd
2.
directly proportional to the product of the current and the sine of
the angle of deflection.
DV HO0IL Db (sine) gy wHSGS §gaain Ay VeI
. DS ST SP oS Syotod
3.
mversely proportional to the current.
53(:)35?553 QT SRS of)oduod
4. %

Question Number : 110 Question Id : 7196502030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Consider a long straight conducting wire. The magnetic field 1s determined as B at a

distance of 5 cm from the wire. The field at 40 cm from the wire would be

28 FUIS BS)0 TirE Siid S k. $8 &1 Dol 5 cm UrGo 38 (& Pl 56
WOFy e ESI0 B P Agrlotbentdd wond & & ok 40 cm Grded (o etied)
é(? Sole @Oﬁ)ﬁ“&o@ ﬁgﬁb:ﬁ) BT S0l

Options :

4B
1. ®

B

2
2. ®

£
3.9

B



Question Number : 111 Question Id : 7196502031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks :

In the magnetic meridian of a certain place, the horizontal component of the earth’s

magnetic field is — G and the dip angle of a magnetic needle is 30°. What is the
3

magnetic field of the earth at this location?

i

5

o

£

3]

(R

2.8 D

i

roﬁ) @@03“&0@ 382 DedoeotdS Cgpes B.dj‘“@d’lﬁ"zro@ i@ XTSRS o)

-

g

Soddn -G, H00fH SabIS WD g eIrosue 30° © K0k S

m@@ﬁ“&o@ 5@&3 ojo?f’/?
Options :
04G
1. ®
02G
2. ®
2+/3
\/_ G
5
3.V
A
V2
5
4. %
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The magnetic flux linked (in Weber) with a coil of resistance 10 € is varving with
respect to time ‘t” as @ = 4t> + 2t + 1. Then the current in the coil at time t =1 second

18

af B8 DO g TGS 10 Q 5005 BIF BBHVEIDS SO
T I0(3e08 &) FoSs 1 8 P =42 + 2t + 1 IOI0 SEGE. VONS o
t= 1 D%l 56 & B DB HIiF0D DS odots

Options :

05A
1. ®

2A

2.

I15A
3 #®

1A
4.9
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The core of any transformer 1s laminated so as to

DOSTOES of)ols §°6 5 NO(LP2B3E) DaSitéo OIS
Options :
reduce the energy loss due to eddy currents

206 DS DI S EOT #§ P SN

make it light weight

TP, DL WD WI0e

2. %



make 1t robust and strong

TR, GCead0rP 200080 gl o w0

3. %
mcrease the secondary voltage
(T3 oS 5 Do dtio §TBBL

4. %

Question Number : 114 Question Id : 7196502034 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0
Let frequencies of green light, infrared light. radio wave and blue light are

Vy .V, , V3 and v, respectively. The correct statement is

SRNY) FoB, V00 ToB, OGO BUoPLn OGN IO Toth Tohe) OIE)
FIEYTL0 SEONP 1y, V5, V3 0000 v, . DO DSBS
Options :

ViZV, =V, =V,

1. ®

Vg2V V=V
2.

1)4 1)1} ]/2 T 1.:‘3
3.9

Vy V= Vg =¥y
4, ®
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A hydrogen atom with a velocity ‘V’ absorbs a photon of wavelength 1650 A and
stops. If the mass of hydrogen atom is 1.6 x 10727 kg, the value of V is

(use h=6.6 = 107* J- sec)

a8 TERS DESTED V' oS AT 1650 A SGoff B KO FErDD
3500500 BOF0R. FEBRY VOSTED) sy Bb50°8 1.6 x 107 kg, wond V
SISV
(h=6.6 x 107 J- sec £003PHoSE)

Options :

2.0 m/s

2. ¢

1.5m/s
3 %

3.0 m/s

Question Number : 116 Question Id : 7196502036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

The shortest wavelength in the Balmer series of hydrogen atom in terms of Rydberg

constant Ry 1s

PGS DR S DS WPSE TS Pods LI Bols BIg 0G0 HTPe%o Ru

Options :
%
RH
1.V
2
RH

2. %



SRy
3. %
1
RH
4. %
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Correct Marks : 1 Wrong Marks : 0

A radioactive sample weighs 1 gram at t =0. The sample decays to 0.5 g by t = 1Hr.
At this time (t = 1 Hr), another 0.5 g 1s added to the sample. At what time after t = 0.

the radioactive sample 1s reduced to 0.1 g?

5200 t =0 S 28 SLOIrErOYE HErd Sorae dwgy $S50°8 1 Pab. &8 (ol LS
(t=1 Hr) He°0 Soorae 0.5 g 050 05050 @9a5)tel. & 5°wo (t = 1 Hr) $&, & do°8
SerTe0 H000NE 0.5 g SHPr) e SOHT. U0 t = 0 03 Wotd S
3GaIrgroys Srae 0.1 g § SAXS0B.

Options :
2 (n(2)
1. &
10
(n(2)
2.
(n(5)
fn(2)
3. %
(n(10)
n(2)
4.
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To operate a n-p-n transistor i active region, its emitter-base and collector-base

Junction respectively, should be

28 n-p-n PO $OFEL DBG HAI0WeTLE, TP GEPGEe-wirde Dod SO0
Q80€d- @Pdo Dod G2 S0l DGV a)oled)
Options :

reverse biased and reverse biased

ef’éﬁﬁr:ﬁ&aﬁmﬁ" BVeleshy @ﬁ%é&w
1. &
forward biased and forward biased
6) /o) ésf&m@* 200050 wE %’é&w
2. %
forward biased and reverse biased
DHE éﬁ&oﬁmﬁ 200050 G %é&éxeﬁﬁ
3.9
reverse biased and forward biased
BT EE) 505 HOASN YHEFE S0
4. %
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The mmimum number of 2-mput NAND gates required to implement a NOR gate

28 NOR orglaned D030l 300 0y 2-a00¢8 NAND oryoven @i
9aHEP0ON

Options :
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Correct Marks : 1 Wrong Marks : 0

For practical application modulation index

&3S0 ¥ - DSGTOS” a)ole SIPELZEIN D

Options :

can take any value

f af o

DB D53 FOH ofotiadudny
1. %

should be less than 100 %

100 % EolS ©50p.5 oHeted
2.¥

should exceed 100 %

100 % %0 oD odee
3. %

exactly 100 %

100 % SDJBQ@DW )il
4. %
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Question Number : 121 Question Id : 7196502041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A): The effective nuclear charge experienced by the outer shell electron

1s greater than that of inner shell electron

Reason (R): Shielding by the inner shell electron causes reduced attraction

between the nucleus and outer shell electron

BB (A): Dy § SoliTaddo @oBdGE0 Y DUFISLIT®) I SN0 WuFIU
2 0503 STP oo,

#0mo(R) 1 SO0 FO 0D DUFIdw SSNerr DI wrIrgElGans'D
POFIS0R o8 iy wilm Bhrow

The correct option among the following is
&1 $old DR)FOS DOGLIE

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)
(A) 003G, (R) 005 0005w (A) 50 (R) DOTNS DdSes

. ®
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
(A) 003G, (R) 0038 2500050 (A) %0 (R) 0G0 25868 5700
2. %
(A) 1s true but (R) 1s false
(A) 0038 520 (R) DOSO 280
3.
(A) 15 false but (R) 1s true
(A) 0038 520 520 (R) DS
4.

Question Number : 122 Question Id : 7196502042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



For which of the following cases, the effect of Heisenberg uncertainty principle has

significant consequences?

Sob FUST QU FTVOWE WIBSSY VODMDSD DeraSSn T APS0argeddS
DOEFSTL0 GolIon?

Options :
An object of mass of 107° kg
10° kg &550°8 o 5009
1. %
An electron of mass of 9.11 x 107! ke
9.11 x 107" kg @550°8 B0 o OO
2.9
A golf ball of mass 10 g
10 g $550°% L 8u¥ (T 0o
3. % '
A football
2o )8deeed
4. %

Question Number : 123 Question Id : 7196502043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Lithium and beryllium have diagonal relationship respectively with

OE0Se SO03N 230D §C;) Dotoodo a3tded” EON GotIPonr SBIP

Options :

Sodium and Calcium

FPE03o OO S“ﬁ;di}o



Boron and Carbon

S0P 0005 TN
2. %
Potassium and Calerum
TER00e L0005 Ok
3%
Magnesium and Aluminmm
0¥ 2050 OGN BLTEgNA0Te
4.9

Question Number : 124 Question Id : 7196502044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The element with atomic number 61 belongs to which group?

HSe Dotdg 61 H0 SaFeTo o HPOIE Bothtield

Options :

Transition element

DOBES Sore¥o
1. ®
Lanthanoids element
ot orO¥o
2.9
Actinoids element
3836 ore¥o
3%

Main group element

QS (e darwss

4. %



Question Number : 125 Question Id : 7196502045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following species has square planar geometry?

58 S0 PO LHEG e 580 BRS Fdd

!

Options :

CF,
1. %

BH,

2. %

S,
3. %

IF;
4.9

Question Number : 126 Question Id : 7196502046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Calculate the formal charges on each atoms in the following Lewis structure of O3

molecule

&t Sobd Y5 LIPOIPR Q0% Es0 O3 @86l Glngy 0B DESTEDR PGS Gaddocd
S8y ovieli.

3
:9:

Options :



O~ 0 :4D).00%: 0

1. #

(aFi=1), (0%2.0), (0" —1)
2. %

(OL: +1), (0% : —1).(0*: 0)
3. %

(O : D), (0% : 0), (O : 1)
4.9

Question Number : 127 Question Id : 7196502047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

335 gm of a gas 1s contained m a 50 L container under 8.2 atm pressure at 27 °C.

What 1s the name of the gas?

27°C ¢, 50 L arpgheS” 335 gm 72080ed) 8.2 atm &S0 a5¢5 &) € €900 &3 TPOSNeS)

Options
He
1. ®
H>
2.
Na
3. %
Ne



Question Number : 128 Question Id : 7196502048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A nmuxture of nitrogen and water vapor 1s admitted to a flask that contains a solid
drying agent. Immediately after admission; the pressure in the flask is 760 Torr. After
standing for some hours. the pressure reaches a steady value of 745 Torr. Calculate

the mole percent of water vapor m the original mixture.

S @Yy O8I SOS TS SEfEn So00%w A8 SO0 oSN WONS Jedd &
?5325856 Ve 760 Torr. §7QY (Holoed BEXTE 18 H&do 745 Torr Ko BE0K0etNed.
P 20F50a5) (2u028SS QFS0)S R A SN0 IS TT°R), B8 ool

Options :

20 %
1. *

10 %
2.

5%
3. %

2%
4.9

Question Number : 129 Question Id : 7196502049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct option referenced to the below statements 1s
Statement (1) : In the combustion of methane, water is one of the products.

Statement (11) : Combustion of 32 grams of methane gives 18 grams of water.

808 Tg50es” SNEDEOTNT VOGRS o 2IB?
7525 (1) : QOBS 5 C5reSo DO, DB 8 G515 0P I YD,
egadg (1) 1 32 PSne QG Girde Wold 18 [FPSnL) 8D 00k,

Options :



both (1) and (i1) are true
(1) 0005w (1) DOID

1. ®

both (1) and (11) are false

(1) 300030 (11) NOID Sad)
2. %

(1) 1s false, but (i1) 1s true

(1) DOSE 370 520 (11) OIS
3. ®

(1) 1s true, but (11) 1s false

(1) VOSB 23 (1) VOIL ¢
4.9

Question Number : 130 Question Id : 7196502050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is not proposed by Dalton’s atomic theory?
55 800 TPUES” GPUR DT DEoBN PAF I ToEgn &?
Options :

Matter consists of indivisible atoms.

VPGS’ 00eTesg DUBTEVGHLN EotIPON

All atoms of a given element have identical properties, including i1dentical masses.

28 03D rOEe HDOSTELHL GT7EN, RdgTPHLL DY DaSTPel™ GotIP0N



Compounds can be formed when atoms of different elements combine 1 fractional
number ratios.

Q) DPUFL DEITFENHLN BS) Dogy NYBS Doirtie Wold VadYFTPLD
DG BRFON

3.9

In a chemical reaction, atoms are neither created nor destroyed.

DaSrreaeden DyRewieatidlo PR, DPdao Wotkio P SaPais w85eS wdHc

Question Number : 131 Question Id : 7196502051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true for an open system?
QLY O BODS $gad) P VO T°g8g

Options :

There 1s an exchange of matter but not energy between the system and the
surrounding.

HOVT S0 S35050 S50t g0 STOYE BN VBVEE O ] 5706 2355

1. %
There 1s an exchange of energy and matter between the system and the
surrounding.
DONTPL) Do &/Dgé@ﬁ) r§_§;, éégo Oolsr Lﬁj“@o)& WolEPON

2.9
There 1s only exchange of matter between the system and the surrounding.
DOVOPL e 35080 508y (g STONE S7°B 8880

3. %

There 1s no exchange of matter, but exchange of energy is possible.

B350 STONG 23BN TR #§ S0 5HIR0

4. %



Question Number : 132 Question Id : 7196502052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For preparing a buffer solution of pH = 9 by mixing ammonium chloride and

ammonium hydroxide, the ratio of concentrations of salt and base should be

(k,=107)

©IFA0Ne TG 00N ©FyI0he FEEHGLN SO pH = 9 B WS wpseo
058 BT, BOND LBEIEN SO0 Fow MPEEPINND ooth?
(K, =107

Options :

I=1

1l

2. %

100:1

1000:1

Question Number : 133 Question Id : 7196502053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the correct order of acidity for NHs, NH;, NH; ?

"
NHz, NH], NH; © €550 50 G308, 000 §20% ool

Options :

NH;: > NH; ~ N‘Hg



NH; > NH; > NH;

2.¢
NH, = NH; >NHs
3. &
NH;>NH; > NH,
4. %

Question Number : 134 Question Id : 7196502054 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement with reference to water and hydrogen peroxide
DB SO0 FPEE DTZYG (00D VOGS TPgRgD Wiy §'ebs

Options :
Water 1s polar but H>O» 1s non-polar

Q0 G595 @Eed) 570 HaOn 8 yaTPendad)

1. %
Both are polar
SN EARTV N SN
2.9
Both are non-polar
LN EI ARSNGBV
3. ®
Water is non-polar but H>O> is polar
Q80 @6 yarEad) °0 HaO) & yareaded)
4, %

Question Number : 135 Question Id : 7196502055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The oxidation states of Rb in RbO; and Na in NaxO» are respectively

RbO2 ¢ Rb 500050 Nax0; ¢5° Na o, eséy8es 2e8ei SS8x0re

Options :
5 o |
1Lv
g |
2. %
s W 55
3. #®
2.2
4, &

Question Number : 136 Question Id : 7196502056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Borax reacts with conc. HCI to produce a boron containing compound X. Heating X

with C2HsOH converted mnto Y, which gives greenedged flame. Identify X and Y.

8508y e HCL 8° 556550 X €93 250°00 $Dae5y, Doy ¢/Sord a8, X &
CoH50H o 36 S0 S0y Sedio ergod ady Y m Somtheed. X

300050 Y €5 000506
Options :

X=H,BO, and Y = (C,H,);BO,

X=H,BO, %06 Y = (C,H;),BO,
1.V

X=HBO, and Y =C,H.BO,

X=HBO, %00 Y =C,H;BO,

2. %



X=B,0, and Y =(C,H,),BO,
X=B,0, &oak» Y =(C,H,),B0,

3 ®

X=B,H, and Y =H,BO,

X =B,H, &00% Y =H,BO,

Question Number : 137 Question Id : 7196502057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Among the following, which 1s metalloid?

(-

& $o0 TS OGS To 2B?

Options :

Si
1. %

C
2. %

Pb
3, ®

Ge
4.

Question Number : 138 Question Id : 7196502058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the below statements 1s/are correct?
(1) Ozone is a toxic gas
(i1) Ozone 1s strong oxidising agent

(111)  Ozone cannot react with unburnt hydrocarbons in air

&3 806 TS OIS T3 2D?
(1) 8088’ DXTOIY)
(i) 28D 200 5506 6%

(i) POS &), Barowetd TG TONRU” fad' W8y BGH

Options :
(1) and (i1) only
(i) o0k (if) e
1.V
(i1) and (ii1) only
(ii) Soo0kw (iii) Sorgtad
2.8
(1) and (ii1) only
(1) SooCkw (iii) Soegdad
3. %
(1). (11) and (111)
(1), (11) S0OOSW (111)
4. %

Question Number : 139 Question Id : 7196502059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The oxidation states of the ron atoms m prussam blue coloured complex formed

during the test for the presence of nitrogen in an organic compound are

5838 DEGeTD B 2D Kr0eSwrRs I HOXS B% D¥gS 2 DB DSy TS
Geote 0GR DESTEHL €85G Jeten

Options :



+2 and +2

42 580550 +2
1 ®
0 and +3
0 00%s +3
2. %
+3 and +2
+3 6ok +2
3.
+3 and +3
+3 00w +3
4. %

Question Number : 140 Question Id : 7196502060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following reactions will not take place?
&8 808 AT o) 83 23605¢0?

Options :

Bl‘z. CC14

LY
>

CH,-CH=CH,

CL.1
CH,CH,CH, 2

2. %

HCl, l CHsC sz 0,

L
F

CH,CH=CH,



CH,CH,COONa Electrolysis "

. QCSJ@(‘E) ar o)
CH,CH,COONa s i 8

4.%

Question Number : 141 Question Id : 7196502061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

The weakest base among the following species 1s

&t $ob BPERLES WOEFIHS TG0 WO

Options :

CH,CH,
1. ®

CH,=CH~
2.8

HC=C"
3.

Ph-CH-CH>™

Question Number : 142 Question Id : 7196502062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

NaCl and KCI crystallize in FCC structure. Their respective diffraction patterns will

look like

NaCl 500050 KCl ev 036588080 Do FCC Q0°)easncy S dnpan. ¢ a88S
DESS B3 Sobd A" BeS” e S

Options :



FCC and FCC
FCC 50030 FCC

1. %
Simple Cubic and Simple Cubic
PG ado «DOCN PERGE dde
2. ®
Simple Cubic and FCC
L0 ede o000 FCC
3. %
FCC and Smple Cubic
FCC 350030 FPeedes ducde
4.9

Question Number : 143 Question Id : 7196502063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

At 300 K, a decimolar solution of K, [Fe{ CN) 6] dissociates to 50 %. The osmotic

pressure of the solution 1s

300K $& K, | Fe(CN), | GAarers grseo 50 % 5 OCIrase Sotioths) & ©o0d

&9 CPa5E GarPada0Es O)leddo woth?

Options :

12 atm
1. ®

7.2 atm
2.V

9.6 atm
3 %

14.4 atm



Question Number : 144 Question Id : 7196502064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following produces basic aqueous solution?

&8 5ol TIPS T8 BOTPSE0D BB Jok0 Dargo

Options :

Na,CO,
1. ¢

(NH4)'ZSO4
2.8

FeCl,
3. %

NaHSO,
4. %

Question Number : 145 Question Id : 7196502065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Calculate the pH of the following half cell:
Pt H2|H2804.

(Given the oxidation electrode potential of the half cell is + 0.3 V)

5)0(5 @égbﬁ)o Cﬁ..l.ﬁar pH By @é&oﬁl)o@:
Pt. Ho|H>SO4.
(e2d0doo Ol0%y, w8 y¥dE DG QoS +0.3 V)

Options :

0.1

1. #



Lh

10

4. %

Question Number : 146 Question Id : 7196502066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
For a first order reaction, A — B, logk vs yT curve has gradient of —5000 K. The

activation energy of the reaction in kJ/mol 1s

(R 1s the 1deal gas constant)

DS Ealoeed 85, A — B. log k, %f O %o P DL —5000 K. 58 eDe3ey 45
kJ/mol &5
(R = &0083:0°050 Q0%e¥5w)

Options :

LI3R
1. ¢

55R
2.8

95R
3. 8

50R
4, %

Question Number : 147 Question Id : 7196502067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Gold numbers of protective colloids A, B, C and D are 0.7, 0.02, 0.12 and 0.0047

respectively. The correct order of their protective power 1s

A, B, C 300050 D o3 S&a Sgronte (7S Deipgen SET 0.7, 0.02, 0.12 £SH0050
0.0047. S&es PS5G0 DTS Evo WE?

Options :

D = A < C < B
1. %

C<B<D<A
2.8

B<D=<A<C
3. %

A ST
4.

Question Number : 148 Question Id : 7196502068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s P in the following reaction?

hot conc. NaOH
ALO,-2H,0 b P

86 5655 P’ DB?

) oG P& NaOH
AlLO,-2H,0 ED > P

Options :

Na,| Al(OH), |

Na| Al(OH), |



NaEEAl(OH]S]

3. ®

Na[ Al(OH), |

4. %

Question Number : 149 Question Id : 7196502069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not an allotrope of phosphorous?

&1 §o0 TS FRYER Erareto 06 IB?

Options :
White phosphorous
B FONER

1. ®
Red phosphorous
oI5 PN

2.8

Black phosphorous

. st B
ée&) énc\)‘lbor\)
3.

Green phosphorous

LV 9(55

Question Number : 150 Question Id : 7196502070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one among the following is the most electronegative element?

St S0l TPIS” 9556 2aEs DEIZTEL) ¥ EONS sre¥o



Options :

O
1.¢
S
2. ®
Te
3. ®
Se
4, %

Question Number : 151 Question Id : 7196502071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1ons exhibits color in aqueous solution?

Sa §00 TR RO ST Gotfoid Pei00w GORS DB?

Options :
SC 3+
1. #
= e
Ni-
2.¥
n
3. %
5
n”
4. %

Question Number : 152 Question Id : 7196502072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Magnetic measurement indicates that [C‘t::-l[DH2 }6]2_ has three unpaired electrons.

Therefore, the hybridization of the metal in [C‘O(CJH2 )6]2+ 1S

[Co(0H,),|” & 5 2uotId LTIV olran B SO o8 Fuesen (D)

KPR 0. 8owS [Co(OH, )] Dby edets” &r 08085E0 aIR0Ed?

Options :

sp’
1. #®

sp’d
2. %

dsp”
3.

SPS d2
4.¥

Question Number : 153 Question Id : 7196502073 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Copolymerization of 1. 3-butadiene and acrylonitrile gives

1, 3-0gtamE0urmS 90050 NEIT SIS § TS0 Dod W8I

Options :

Buna-S$
a0ga-S
. ®
cis-Polyisoprene

DS-FODTHS



Orlon

éug%'i
3. ®
Buna-N
&DS&S- N
4.9

Question Number : 154 Question Id : 7196502074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following amino acids is/are optically active?
(1) Glycine
(11) Alanine
(mm) Leucine

(1v)  Isoleucine

88 806> 03 S LT €650 BB LIS 05753) KO oton?
@) oS
(i) DOID
(i) oS

(1v) T

Options :
(1) only
(1) S°Sad
1. ®

(111) and (1v) only

(1i1) o005 (1v) S5eGad



(1), (111) and (1v)

(1), (111) sSHOOSW (1v)
3. ®

(11). (111) and (1v)

(11), (111) 505w (1v)

Question Number : 155 Question Id : 7196502075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Sulphur contaming artificial sweetening agents are
DO D &) SHH S Sodd ¥DNew) PO

Options :
Aspartame and Saccharin

DFTD SHOCHH FLS

| %
Aspartame and Sucralose
@5@@5\) SOOI ‘éngf_‘f-‘s %
2. %
Sucralose and Alitame
2055788 220005 DG
3%
Alitame and Saccharin
29¢3000 0OCSN PEOD
4.

Question Number : 156 Question Id : 7196502076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Decreasing order of C-X bond enthalpies of the following alkyl halides 1s

&1 Sobd 955206 WD) S HFOELES” C-X evotio GINE detPO L &) ES080 B0 yols

() CH,CH,Br
(i) CH,CH,F
(i) CH,CH,I
(iv) CH,CH,CI

Options :

(1) > (11) = (111) = (1v)

1. %

(ii) > (1) > (iii) > (iv)
2.

(1v) > (1) > (1) > (111)
3. %

(i) = (v) > (1) > (i11)

Question Number : 157 Question Id : 7196502077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following reactions gives a primary alcohol as the major product?
88 80 o) S5 9306 €90 LS PGS S8 ol I DR

Options :

Acetone + methyl magnesium bromide

SRESR + 0BG 1) 0o LG



Formaldehyde + methyl magnesium bromide

PTG + GS i) ROKo &' DE

2.V
Benzaldehyde + methyl magnesium bromide
BeePORrG + NS i) 2000 5’06

3 ®
Acetaldehyde + methyl magnesium bromide
QREFPOFE + PO )y 22080 5’6

4. %

Question Number : 158 Question Id : 7196502078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product formed in the following reaction sequence. is
&5 8ok WO GE PE°S GBSy 0 NB?

(1) HBr

N

(i1) Mg , dry ether & =56
C=N

Options :



OrI1

2.
O
3.¢
O
4, %

Question Number : 159 Question Id : 7196502079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major products P. Q and R in the following reaction sequence, are

&5 §ob TGRS’ BN DTS G5y S0e P, Q S10050 R 5 Bennesn.
O

535
> P > Q —> R
(ii) H, O (vi) H¥ 1,0, A

(111) 20% H3PO,, A

Options :

CH, CH,Br CH,CO,H



P Q R

CH3 CHS CH3
Br f HO,C f

2.V

P Q R

CH; CHs CH,

?fBr ?fCOzH

3. ®

P Q R

CH; CH, CH;
f Br f CO,H

4. %

Question Number : 160 Question Id : 7196502080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An unsymmetrical organic compound decolorized one mole of Br, in CCl, and

released N, gas upon reaction with HNO, . The compound is

o OTYPS K83 DS, CCL, &° 500 &y a8 IS Br, & 050 35000 6080
HNO, 5 3585308 N, PO Deae 3008 @00 & Dy /s

Options :



1. %
(IEHZCH;:CH3
N

2. %
NH,

3.¢

CH,CH;

4. %



